YMHOXEHME.

N3mepeHmne
BOEMEHM.

3aKpEenAeHme.




Nel
BbIMOAHU YMHOXKEHME.

1 2

20X 9 = 6 x40 =
40 X 5 = 80 x4 =
70 x 7 = 80X 3=

90 x 8 = 8x30=




|
w_____

Haunam 3HAYEHMS BbIDAXKEHMM:

1 2

(64 +36) x 8 = (129—109)x6=12
(32 +48) x4 = 7x(95-15) = 56




Neo3

1 2

AQHbI YeTbipe AQHbI YeTblipe
YUCAQ: 2, 3, 5, 9. YUCAQ: 2, 3, 5, 8.
Tpu U3 HUX TPU U3 HUX
. | NTePEeMHOXXUAM. NepeMHOXUAMN.
.| Moayuynaocs 90. MoAy4uaocso 80.
Kakune yncaa Kakue 4Ymcaa

nepemMHOXNAN? nepemMHOXUAU?

2,5,8




I
Ne

BbIMOAHM YMHOXEHUe B

CTOABUK:
1-B. 2-B.
64 x 3 = 15x8= 120
96 x 8 = 44 x4 = 176
157 x5 = 235 x4 = 940
16 x4 = 29 x 7= 203
47 X 9 = 98 x 4 = 588

368 x 2= 452 x 2 = 904




"

BbIMULLIM YANCAQ, KOTOPbIE
AEAITCH:

1 — B. 2 — B.
Ha 4: Ha é:
4,5, 6,7,8, 9,10, 11, 12,13, 14, 15, 16,

17,18, 19, 20, 21, 22, 23, 24.

6,12, 18, 24




Neb
Bbipa3u:

B Yacdax.

B MecsAaudax.

ABO€ CyTOK, Tpoe 4 roaq, 1 Bek, 6 AeT

cyTtok, 120

MMHYT.

48,72,2 48,1200, 72
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[1pe3eHTauuo nogrotosuna:
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